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Solución	
  Problema	
  2:	
  
	
  
	
  
Sean:	
  
	
  	
  	
  	
  𝑎! = (𝑎!!,𝑎!!)	
  	
  la	
  aceleración	
  que	
  adquiere	
  la	
  cuña	
  de	
  masa	
  2𝑚	
  
	
  	
  	
  	
  𝑎! = (𝑎!!,𝑎!!)	
  	
  la	
  aceleración	
  que	
  adquiere	
  la	
  cuña	
  de	
  masa	
  𝑚	
  
	
  
Diagramas	
  de	
  cuerpo	
  libre	
  y	
  ecuaciones	
  del	
  movimiento:	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
−𝑁! sen𝛼                                         =   2𝑚  𝑎!!                                  (1)	
  

𝑁 − 2𝑚𝑔 − 𝑁! cos𝛼 =   2𝑚  𝑎!!   =   0              (2)	
  

	
  

	
  
	
  
	
  
	
  
	
  

	
  
	
  

	
  

𝑁! sen𝛼                           = 𝑚  𝑎!!                            (3)	
  
𝑁! cos𝛼 −𝑚𝑔   = 𝑚  𝑎!!                              (4)	
  

	
  
	
  
	
  
Además,	
  el	
  movimiento	
  de	
  la	
  cuña	
  de	
  masa	
  𝑚	
  ocurre	
  siempre	
  en	
  la	
  dirección	
    𝑥!! 	
  .	
  Para	
  ello	
  
la	
  fuerza	
  neta	
  en	
  dirección	
    𝑦!! 	
  debe	
  ser	
  nula,	
  	
  es	
  decir:	
  𝑁! −𝑚𝑔 cos𝛼 = 0.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =>     𝑁! = 𝑚𝑔 cos𝛼                             (5)	
  
	
  
	
  
Reemplazando	
  𝑁!	
  en	
  (1),	
  (3)	
  y	
  (4)	
  obtenemos	
  las	
  aceleraciones	
  de	
  ambas	
  cuñas	
  
	
  

de	
  (1):	
    𝑎!! = − !
!
cos𝛼 sen𝛼	
  

de	
  (2):	
    𝑎!!   =   0              	
  

	
  
	
  

de	
  (3):	
  𝑎!! = 𝑔 cos𝛼 sen𝛼	
  

de	
  (4):	
  	
  	
  	
  	
  𝑎!! = −𝑔 1− cos! 𝛼 = −𝑔 sen! 𝛼	
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𝑎⃑! = (−
𝑔
2 cos𝛼 sen𝛼 ,0)	
  

𝑎⃑! = 𝑔 sen 𝛼 (cos𝛼 ,−sen𝛼)	
  

=>	
  


